THE DISTRIBUTIVE LAW

Expand and simplify the expressions in this exercise.

1 J5(V2+43) 2 J5(V5+2) 3 V2(V2+48)
4 V3(V2-e) 5 V6(v3-2) 6 7(2v5-1)
O 5(Z+@)=\io +(1s
@ E(F+z)= 5+(0

(7)< 24116 = 2+4 =6
%ﬁ((f?bl G - VI8 = (& - 307 = (312302 = 2 (I2-2)

® o (B-2) = [T -2C = {3z 206 = 3\z ~2(2(3={2[3-203)
®F(2(5-1)= 4|E -+

8 3V2(2v6-5) 9 Ja(Va+b) 10 Vx(Vx-\y)
® 3(z (208 ~{5)- 11{5~3(10
O (a(l +(5) = o #lab
Oz (fx -Jy)= z -{zy

14 (V5+2)(25+3) 15 (243-5)(2V3+3) 16 (V3-v2(2V3-42))
WD(5+2) (25 +3) = 10 +3[5 +4[5+€ = 16 + (5

® (25 -5)lE+3)=12+6(3 103~ 15=-3- 4[>
(3 -GOE-E) - (B2 +2 = 1+5(1-2F)

20 (V5-2) 21 (2V6+3)’ 22 (2v2-1)(2V2 +1)
® (5-z) = §-2{10+L =F-2{10

@ (J6 115 ) < 24+ 418 +23 =27+ 4Bz - 1F+1212
6D (12 -1)2lT+1) < ()~ 1= 8-1=7F
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2 (WE-5)(26+ ) 24 (V- F)IT+ ) 25 (V-2

@(2\/6—@(2{3#") (ZJ' (B =24 -3 = 2
@ (- /7 ) +7) (F) (F_nﬂr 4

@ (F-2)(F+2) < (F)- )= F -4 =3
30 (VIT-VI0)(VIT+v10) 31 (Vo-+5)(v6++5) 32 (22+V3)

& (-0 )W +i0) = ()= (fi0)*= 11 - 10 =)
@D (6 - m(mr) ([6)-([5)=6-5=

3 Z)(E) +(z)°
& (zﬂtf)_ 4%? )JPZ?QE; _ H++ b6

36 Expand and 'mplfy(4~/_+l)(2s/_ %) Some steps in this simplification are given below. Indicate whether
ach statement is a correct o ect step.

(a) 75— 12J5+2J’ 3 -24 12d3+23-3 @21 1073 (d) 27-10V3
(L +1) (2% -2) = 24 - 23 +2(5 -3

37 (5v2-4)(5v2 +4) 38 (247 +3V6) 39 (2415 +5)(V15-345)

ED(5E- 1) (572 +4) = (S(Z)*- 4> = 50-16 = 34
.(2F+3>/—) (7 )*+24 0IF)< 306 + (316)°
— 18 412 (42 + 54 =82+ 12(&2
& (oI5 45 )[B-3{5)= 30 ~20/Z+5/3 - 15

_ 5-25/3
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